3X+6=24

®
JustMaths 2/\{
€

’ ‘ 3 1 Number of children Frequency
8.9 : )

*x
2 7

3 8

2

0

4

Si :
llelfy the ratio 9_18 More than 4
* ' WHAT 1S THE MEAN?

Work out the probability of x?

Score 0 1 2 3 4 6
; Probability 0.09 X 0.18 0.16 0.21 0.30
' | 5 4
st common ¥ 2q° x3q

8 cm .

www.justmaths.co.uk © 2014


http://www.justmaths.co.uk

3X+6=24

®
JustMaths 2/\{
€

‘ ‘ 3 1 Number of children Frequency
8.9 : )

) (I e
2 7

3 8

2

0

4

Simpl. More than 4
ITY the ratio g5
* WHRT IS THE MEAN?

Work out the probability of x?

Score 0 1 2 3 4 6
; Probability 0.09 X 0.18 0.16 0.21 0.30
' | 5 4
st common ¥ 2q° x3q

8 cm .

www.justmaths.co.uk © 2014


http://www.justmaths.co.uk

